EARAROBEEIERT — 2 N— IBISH —F

201757H230 (B) 2R 58H

R REXA

KR EE] B

‘ [K1%] /J\Eﬁ‘ [REBE] — | Z (&) 18000 B

[A®4] 1 % :5,000,000 @ ~ 2 7% :2,000,000 M

/33 11,300,000 @ 4 3% :750,000 @ 5 & :500,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
O — o2 | HEEAH 1:51.4 5-3-4-4 | 35.9| 81.9 | 1 456 | FOEMEZ (i)
1 3 Ny h—% 54.0 (-) (+2) PIEFE 1
R:TFyraMK BiALeI PO b 2N
2 4 o | BEERLT 1:51.4 5-6-4-4 |35.8| 81.9 | 3 486 | IRARIL (55i/)
olgl11| 77 AT7TIL=T A51.0 (7 4%) (-p) | RSB
LA bk—L B:Ea—F40724 AXFRBEFLASERBES
7 R 2 | AHEE=E 1:51.8 9-8-2-1 |36.6| 76.3 | 2 40 | BHFT (EH)
3155 AHNZTALXYER * 54.0 (2 1/2) -2) ‘L(H:) KTL—2%
R:RY—LYv—Z— BZRF-Udr—I> =T Tr—L
RS = o2 | BiElE 1:52.0 11-11-2-2 | 36.7 | 74.1 | 9 474 | M EEF (i)
4 2 JA 7)Y —0A 54.0 (1 1/4) 2) TiEEE—
Qi b—wIATLEY BT TLT— =& Ip=t
EYET P 4 2 | KEFHRIR 1:52.0 9-8-9-8 |36.2| 76.0 | 4 434 | BWFEEL ()
5 4| =¥/ 773a-n 54.0 (7€) (-g) | FELBEST
RN—5—y 7 B:Zy/F—Za-)L Ll ki
9 2 4 o2 | AL 1:52.2 3-3-7-7 |36.5| 74.0 | 6 464 | EBIRE (ER)
6l1/11E vy TIEX ¥¢53.0 (1 1/4) (o) |EAFER
LN=HINK BA/ w2 hH—0L FiE
s 2 | ALHEF 1:52.3 1-1-4-4 |36.8| 71.3 | 5 468 | LR1BZ (FH)
ZH 71 FU/0) = 54.0 (3/8) (1) | REES
R:jr—3I)7> BETIATAIL FHBSE
S EILS 4 L 4t o | FEEHE—HR 1:52.4 8-8-1-2 |37.2| 68.2 | 7 492 | REEER] ()
gl7|o| ¥ TN Y HRAE 54.0 (7€) 4o |FEE
RN=—5—2y 7 BHIVHTT> BANKS
S0 e . HHE :52. ~6-10~ . . PMAEFE (/)
gl7lg |21/ o> Ry R o2 A 1(752t;1 5-6-10-9 |36.5| 72.1 | 8 zzg)z e
L:E¥r7AvvY B RUALZRAT TADAS
- _ 3 _Kr 4 o2 | IHES 1:54.0 3-3-7-10 |38.3| 54.8 | 11 460 | 2EHB (E#)
fo8|10] P=—>rL—F 54.0 10y e | ho—1REm
R:2v—bAEY B:ZAV—bLET BALBRS
> B2 | B 1:54.4 2-2-10-11 [38.4 | 51.4 | 10 | 422 |&>tE#=EE ()
EH 6| AZ—EL A51.0 ) (+10) | EEAFER
L:d—IWR7Y2—J)b B:¥Z¥av b RE% S
@ 21 L
£ 48.1-36.2
NA>ZA L | 12.8-12.1-12.5-13.5-12.4-11.9-12.1-12.0-12..1
® 1—F—@EBIERL
1T=7r= (6,%7) (1,10) (3,8,11)9(4,5)2
23—F— (6,x7) (1,3,10) (8,11) (4,9,5)2
Ja=77= (5,%9,2) (7,3,11) (1,10)4(6,8)
40 —F— 5(9,2) (7,3,11)1,4,8,10,6
[ N5
B 3 200M 714K 3-11 290M e E 3-8 740M JEE 3-5-11 680M
# B 3 110 =5 150H B E =111 810 JEH 3-11-5 3,710
1 170 5-11 420M B H 3-11 1,440
5 1309

ABICOVWTRDTEEERROODE. TR LIV,




